XAFR(HER)

RHEEIEHAKAFRERERE)

B K

[R=K

BRI KAF B AIBARER - B0 (% 1) DB | st qE (me/L) KAF R (HraHF=AE)  PBR i HAR{E m - 5z
BRERHE Bk Bk BA || HB RAEER (mg/L) mERen| 15
k2
ok A B R6.6.6 R6.9.5 R6.12.5 R7.3.6 R6.7.9 R6.8.6 R6.11.27 R6.7.9 R6.4.16 R6.5.8 R6.6.4 R6.7.9 R6.8.6 R6.9.11 566'1100'125 R6.115 | R6.12.3 R7.1.7 R7.2.5 R7.3.5 EKERAB R6.6.6 R6.7.9
FEKEFZI 9:50 9:40 9:35 10:20 10:50 10:47 10:58 11:18 11:10 13:27 11:25 12:48 12:18 11:52| 10:16] 11:10 10:57 11:00 10:32 12:00 11:17 FRKEFZI 9:50 10:50
Xix BN =l Eh f/E Eh Eh Lz a1 EN £ Eh Eh Eh En| BEh| BEh =Y BN = Eh /M Kix g Eh
8 (°C) 23.9 27.0 12.0 11.1 32.0 30.9 15.5 32.0 23.6 23.0 19.9 33.8 30.9 32.8] 280 252 19.2 16.1 11.0 9.0 7 iR (°C) 23.9 32.0
Kig (°C) 21.0 27.0 12.7 10.3 21.6 27.6 18.0 225 15.5 19.2 22.0 24.5 29.4 265 2500 226 20.0 16.5 10.0 10.0 11 Kig (°C) 21.0 21.6
1[— A= 0 0 0 0 2 100{E LA F 0 0 0 0 0 0 0 0 0 0 0 0 1[1,3->4on7nR2(D-D) 0.05 HRE <0.0005 <0.0002
2| KIaE FEH] FHRHE| FRE| THdH EXES R A PE PEE PE 4 P24 fEtE [E]ES FE P PET EYES EXES XS 212,2-DPA (8'7#Y) 0.08 BREH <0.001 -
|AREVLEUVZDIEEY <0.0003] <0.0003] <0.0003] <0.0003 <0.0003 0.003LLF <0.0003 3]2,4-D(2,4-PA) 0.02 BB <0.0002 -
4|KEBRUZDILEY <0.00005 <0.00005] <0.00005| <0.00005] <0.00005 0.0005LLF <0.00005 4|EPN 0.004 % RA <0.00004]  <0.00005
5| EL RUZFDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 5[MCPA 0.005 BRELH <0.00005 <0.0003
6B R VZDNILEY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 6|7 1S4 0.9 BREF <0.009 <0.009
NEZRVZDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 1N7+E7—k 0.006 % R F <0.00006 <0.0008
8|/l LIEEY <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 8|7 0.01 BREE <0.0001 -
O|FAHMRREE R <0.004 <0.004 <0.004 <0.004 <0.004 0.04LLF <0.004 9|7=OkR 0.003 BREH <0.00004 -
10[ 7oA A R UIEIES T <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 <0.001 <0.001 <0.001 10[73r5X 0.006 R HEl <0.00006 -
1M|EREERRVBIEREESR 0.57 0.64 0.78 0.44 <0.2 10LLF 0.30 11|7570—)L 0.03 BREH <0.0003 -
12[O9FRUVZDILEY 0.08 0.08 <0.08 0.09 <0.08 0.8LLF <0.08 12|4VFFFA> 0.005 xR <0.00005 <0.0003
13[[EF53FRUVZDILEY <0.1 <0.1 <0.1 <0.1 <0.1 10T <0.1 13[4V 7z KRR 0.001 R E <0.00004 -
14{Puig 1k & <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 0.002LLF <0.0002 14{4v7oAH)LT (MIPC) 0.01 % RE <0.0001 -
15(14->F %52 <0.005 <0.005 <0.005 <0.005 <0.005 0.05LLF <0.005 15(4v70F 45> (PT) 0.3 REE <0.003 <0.003
16 :;/;\2_1/2:755,31 : IL’;E;U <0.004 <0.004 <0.004 <0.004 <0.002 0.04LLF <0.002 16|4FozoHI Y 0.002 BREH <0.0001 -
17({>o0niay <0.002 <0.002 <0.002 <0.002 <0.001 0.02LLF <0.001 17|41 78RR (1BP) 0.09 BEH <0.0009 <0.0009
18[FFS ooz FL Y <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 18[43 /9420 0.006 HEH <0.001] <0.00006

g |19 kJrooITFL> <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 19[4o5 /070 0.009 BREH <0.00009 -
20[RotEY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 20|TXTOhILT 0.03 BB <0.0003 -
2118/ 0.07 0.07 0.06 <0.06 0.6LLF <0.06 0.08 <0.06 <0.06 21|TrozoTavsR 0.08 xR E| <0.0008 <0.0008
22|/ O OEEEE <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 <0.002 <0.002 <0.002 2| TURRILT7U(NVY'IEY) 0.01 3 RE| <0.0001 -

# | 23 ==Y N 0.014 0.017 0.010 0.006 0.06LLF 0.015 0.019 0.012 0.005 23|A X HTHOAKRS 0.02 BB <0.0002 <0.0002
24|y 0O EERE <0.002 <0.002 <0.002 <0.002 0.03LLF <0.002 0.003 <0.002 <0.002 24| A% L8R HEER) 0.03 BEFE <0.0003 <0.0003
25| 0FHO00A58 0.005 0.006 0.005 0.005 0.1LLF 0.007 0.009 0.005 0.006 25|41 ZRrOEY 0.1 REE <0.001 -
26| R Kk <0.001 0.001 <0.001 <0.001 0.01LLF <0.001 0.002 <0.001 <0.001 26| H X YRR 0.0006 B RE <0.00004 -

5 |2 BRYANOAZ 0.027 0.031 0.022 0.018 0.1LLF 0.032 0.040 0.025 0.019 27|h7zoRrO—)L 0.008 BREH <0.00008 -
28|~/ OO BEER <0.003 <0.003 <0.003 <0.003 0.03LL'F <0.002 <0.002 <0.002 <0.002 28| ALY T 0.08 HEE <0.0008 <.0003
2|2 0FEoH/O0r9 0.007 0.008 0.006 0.005 0.03LLF 0.009 0.010 0.007 0.006 29[4JL731) JLINAC) 0.02 3 RE <0.0002 <0.0003
N PIEE A 0.001 <0.001 0.001 0.002 0.09LLF 0.001 0.002 0.001 0.002 30|AILARISY 0.005 3 RE| <0.00001 -

g |3 RILLTILTER <0.008 <0.008 <0.008 <0.008 0.08LLF <0.008 <0.008 <0.008 <0.008 31|%F /9532 (ACN) 0.005 BB <0.00005 -
R2|FMRVZDILEY <0.005 <0.005 <0.005 <0.005 <0.01 10LLF <0.01 32|FvTH 0.3 REE <0.003 <0.003
B|TZILEZ=DLRUVZDILEY 0.01 0.02 0.02 0.01 <0.02 0.2LLF <0.02 33[yzo 0.03 PR <0.0003 -
MHERUVZEDILED <0.03 <0.03 <0.03 <0.03 0.07 0.01 0.3LLTF <0.01 34|45 ) R —k 2 BB F <0.02 <0.02
35|F R VZDILEY <0.01 <0.01 <0.01 <0.01 <0.01 1.0LLF <0.01 35[4 Lk R—k 0.02 BB <0.002 <0.0002
36| FRIDLRVZDIEEY 223 19.9 19.0 30.7 95 200LLF 17.0 36|yaA7av7 0.02 BREH <0.0002 -
37|RVAVRUVFEDILEY <0.001 <0.001 <0.001 <0.001 0.021 <.005 0.05LLF <0.005 37[7o)=rozz> (CNP) 0.0001 BREA <0.00004 -
38|IE LA A 15.3 16.3 15.7 19.7 9.0 200LLF 15 15 16 14 17 16 14 15 16 15 17 17 38|40 LE YRR 0.003 FaE <0.00004 <0.0002
9|HILL DL, TR LE (FBE) 84 72 89 120 69 300LLF 94 110 83 120 39[#ooarm=,L (TPN) 0.05 REH <0.0005 <0.0005
IMEEETL 210 180 180 250 130 500LLF 220 220 170 230 Wl 7How 0.001 PR ELH <0.00001 -
MEAAREEMEF <0.02 <0.02 <0.02 <0.02 <0.02 0.2LLF <0.02 41|27 /7R X (CYAP) 0.003 R <0.00004] <0.00003
2| ARAI <0.000001| <0.000001] <0.000001] <0.000001] <0.000001 0.00001LLF <0.000001] <0.000001| <0.000001] <0.000001 42[>50> (DCMU) 0.02 BB <0.0002 -
43|12-AF )LAYVRIL R A —)L <0.000001| <0.000001] <0.000001] <0.000001] <0.000001 0.00001LLF <0.000001] <0.000001| <0.000001] <0.000001 43[40~ =)L (DBN) 0.03 BB <0.0003 -
44| JEA A R mmEHEF <0.005 <0.005 <0.005 <0.005 <0.005 0.02LLF <0.002 <0.002 <0.002 <0.002 44(>40)LAR X (DDVP) 0.008 AR E <0.00008] <0.00008
45|27 /—)L%E <0.0005] <0.0005] <0.0005] <0.0005 <0.0005 0.005LLF <0.0005 45|97k 0.01 BB <0.001] <0.00005
46| EHEMZE(TOC) 0.8 0.9 0.7 0.9 <0.3 3LLF 1.0 1.0 1.1 0.9 0.8 0.9 0.9 0.8 0.8 0.9 0.9 1.1 462 ZILTRRA(TFINFAAY) 0.005 B RE <0.00004 -
47|pHI{E 7.4 0.7 7.7 7.6 7.6 58LL E86LLT 7.7 7.7 7.7 7.7 7.8 7.7 7.8 7.7 7.8 7.6 7.8 7.6 47|CFAHINA—FREEE 0.004] FH=-FEH <0.00005]  <0.00005
48|k EEfLL| EEL4L| EELL| EBLGL] EBLL EETHWIE] BEELL| BELGL| BELL| BEELGL] ERLGL| BEELGL EEGL| BEELL| BELGL| BE4L| EE4L| EBLGL 48|CFAE L 0.009 BRE <0.00009 -
IBIEE ExfhL| EE4L| EE4l| E¥GL] EEBLL EETHEWIE] BELL| BELGL| BEELL| BEELGL] ERBLGL| BEELGL EEGL| EELL| BEELGL] BEAL| EELGL| EBLGL 49| 1\ORyTITFIL 0.006 BB <0.00006 -
50| B A <1 4 4 0.6 S5FELLT <0.5 <0.5 <0.5 <0.5 <0.5 <05 <0.5 <05 <0.5 <0.5 <0.5 <0.5 50[2 <> (CAT) 0.003 BREH <0.00004 -
51| A <0.1 <0.1 <0.1 <0.1 <0.1 2ELLF <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 51| AR AN 0.02 BB <0.0002 -

52| ART—Fk 0.05 B aE <0.0005 <0.0005
B 4Z{E (mg/L) 53 AR 0.03 Z3=%] <0.0003 -
HZ7oFELRUVZDIEEY <0.0015] <0.0015] <0.0015] <0.0015 <0.002 0.02LLF 54|58 AT/ 0.003 R <0.00004]  <0.00005
2|95 RUVEDIEED <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 0.002LL T (*2) = | s55|41L0y 0.8 BREH <0.008 <0.008
3= LRUZDIEEY <0001| <0001| <0001| <0.001 0,021 F <0.002 56 ;a’;;fw’f /j_a\gr 22| ool mmememmmm | <o0001| <0.00002
4R =| 5777 0.1 BEH <0.001 -
5|12->y00xT4iy <0.0004] <0.0004] <0.0004] <0.0004 <0.0004 0.004LLF 58| F 5L 0.02 HEHE <0.0002]  <0.00002

K 6|R & 59|FA AT 0.08 R ERHF <0.0008 <0.0008

1R & #5 | _60[FAT7R—FAFIL 0.3 HEE <0.003 <0.003

& R NES <0.04 <0.04 <0.04 <0.04 <0.001 0.4LLF 61|FARL AT 0.02 BB <0.0002 —

9[ZFILEED (2-TFI)ILAFTI)L) <0.008 <0.008 <0.008 <0.008 <0.008 0.08LLF 62|72 L)AL 0.002 IREF <0.0001] <0.00002

e | 10| FIERER <0.06 <0.06 <0.06 <0.06 0.6LLF 63|7)LFHJLT (MBPMC) 0.02 BREH <0.0002 -

Bl 1k & 64[F)ZOE L 0.006 BREF <0.0003 -

13 12[ZFREIR R - — - - 06LLTF 65|k~ 0 )L (DEP) 0.005 HAEl <0.00005 <0.0004
13[oyoo7vw=k))L <0.001 <0.001 <0.001 <0.001 0.01LL T (x2) <0.001 66|k 55 —IL 0.1 BEH <0.001 -

g 14{fako05—)L <0.002 <0.002 <0.002 <0.002 0.02LL T (x2) <0.002 67|k DILS 0.06 BREH <0.0006 <0.0006
[HEESH <0.01 - - - 1LUTF 68|+ 7m/s=K 0.03 BREH <0.0003 -

= | 16|ZBIER 0.7 0.8 0.6 0.7 1T 0.60 0.61 0.58 0.53 0.67 0.56 0.58 0.64 0.59 0.60 0.63 0.54 69]/85a3—k 0.01 BB <0.001] <0.00005

LAV OL, TRV HLE (FBE) 84 72 89 120 10~100 94 110 70[EXO%KR 0.0009 BREA <0.00004 -

o LI8|RVAVRUZDILEY <0.001 <0.001 <0.001 <0.001 0.01LLF <0.005 71|ES9O0=)L 0.01 BB <0.0001 <0.0001

B | 19|k ik R 11 9 6 14 2 20LLF 12|ESV ¥y 0.004 BRE A <0.00004 -

- | 20[111-F)HOOT AR <0.03 <0.03 <0.03 <0.03 <0.001 0.3LLF 73|ESY ) R —RETY L—}) 0.02 BB <0.0002 -

£ I 21[2>F L+ F)ILT—F /L (MTBE) <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF 74|EYE I F A 0.002 R EE <0.00004 -

15 22| H#EZE (KMnO4HEE) (* 3) - - - - LT 1.0 1.0 1.1 0.9 0.8 0.9 0.9 0.8 0.8 0.9 0.9 1.1 75| IFHILT 0.002 BREH <0.0002 -
23| R =58 E (TON) i s s s s 3LLTF <1 76|EnXoy 0.05 BREH <0.0005 -

g 24|17 RIREY 210 180 180 250 30~200LLF 220 220 7712470=)L 0.0005 R EF <0.00001] <0.000005
258 E <0.1 <0.1 <0.1 <0.1 1ELT <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 78|7z=FOFA> (MEP) 0.01 HEE <0.0001 <0.0001
26|pH{E 7.4 7.7 7.7 7.6 715%8 7.7 7.9 7.7 7.7 7.8 7.7 7.8 7.7 7.8 7.6 7.8 7.6 79|2x/7Ah)LTJ (BPMC) 0.03 Z Al <0.0003 -
2|EBM (ST TS - 09 - 0.6 - 0.6 -0.5 - 09 —1~0 - 0.1 80[ox LY 0.05 HEE <0.0005 -
28| kB R &&= (HPC) 0 0 0 0 14 20001 T~ 0 81|Zx>FA4> (MPP) 0.006 e <0.00006]  <0.00006
29[1,1->40aTFLY <0.01 <0.01 <0.01 <0.01 <0.001 01LLF <0.001 82|7x> FT—K(PAP) 0.007 R E <0.00007]  <0.00007
0| FILE=DLRUVZDILEY 0.01 0.02 0.02 0.01 0.1LLF <0.02 83| 7T RSHEK 0.01 BB <0.0001 —
31[PFOSEU'PFOA( * 4) - - - - <0.000001 0.00005LL T (x2) 0.000009 84|72 H 54K 0.1 REE <0.001 -

85[744vn—)L 0.03 PR EE <0.0003 -
_ TeaT B = 86|7 43K 0.02 BRELF <0.0002 <0.0002
DI)TRRRY DO L|KIBE BRHESINAL EYES | | 87|7700x>y 0.02 ZHRE <0.0002 -
iy EiEE RREFRER VIV AEFR)| grEshigy _ 0 ( | 88|7ILTTH L 0.03 HEF <0.0003 <0.0003
FUEZTHEER (mg/L) — _ i 0.36 0.70 I I 89|7LFS5v0—)L 0.05 BB <0.0005 -
BAXX 5 1pg—TEQ/LLLTF _ 0.062 | | 90|7os 3Ry 0.09 SEF <0.0009 <0.0009
91 |7OoFAKRR 0.007 R EBE <0.00007] <0.00009
1. FERLGEXBEEFKEHODKREZRZ TR (RKAFRUIER)ELRE) 92|7oEa+Jy—IL 0.05 HREFH <0.0005 —
* 2. 8F 93|7aEHIR 0.05 BREE <0.0005 -
* 3: H#IFH #46(TOC)THRA 94|7aR+y—)L 0.03 BEH <0.0003 <0.0003
* 4 :PFOS(R)LI)LABOF IR R LRV EE) RUPFOA(RILIILA DA HZEE) 95|JO0ETFR 0.1 BREH <0.001 <0.001
96|R/3)L 0.02 HEH <0.0002 <0.0002
97|Ro o0y 0.1 HEE <0.001 <0.001
98|RVEL /Oy 0.09 BB <0.0009 -
99|RL I FvT 0.005 BB <0.00005 -
100[Ro %y 0.2 BREH <0.002 <0.002
101[RoFaA5) Y 0.3 BREH <0.003 <0.003
102|Ro25HILT 0.02 R E <0.0002 <0.0002
103[RLTILS5) (A 2B Y) 0.01 BB <0.0001 -
104[Ro oL E—F 0.07 BB <0.0007 -
105|R2XF7E—F 0.003 R EBE <0.00005 <0.0002
106|<>5F4> (52) 0.7 R EE <0.007 <0.0005
107[*a7ov7 0.05 BREH <0.0005 <0.0005
108[AV= )L 0.03 R EF <0.0003 <0.0003
109[#55% )L 0.2 BREH <0.002 <0.0006
110[A*F % FA4> (DMTP) 0.004 FaE <0.00004]  <0.00006
111[ARS/ZFOEY 0.04 HEE <0.0004 -
112[AR)TS 0.03 BB <0.0003 -
113[ A2z vk 0.02 BB <0.0002 —
114[x70=)L 0.1 RE <0.001 -
115[F) R—Fk 0.005 R E <0.00005 -




